READ 180° rBook Stage B
React and Write

Name

READING 1: Louisa, Please Come Home

React

» Write and share responses to the rBook React question
on page 68.
@ Brainstorm: Write three reasons why you think it is or is not believable
that Louisa could change her identity so easily.

1.
2.
3.

@ Rewrite: Choose one idea to rewrite using a sentence starter.

Sample Response: 17 is believable that Louisa could change
her ideritity so easily because she was
how /L'vihg among strangets.

Sentence Starter: It (is/is not) believable that Louisa could

change her identity so easily because

@ Discuss: Share one idea with two classmates. Take notes on their ideas.

Name Idea
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1.
2.

Report: Prepare to share one of your classmates’ ideas with the class.

lamara pointed out/indicated that iZ is believable
that Louisa cowdd change her identity so easily becouse she

was now living among Strangers.
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READ 180° rBook Stage B
React and Write

Name

READING 1: Louisa, Please Come Home

Write: Ten-Minute Paper

» Read, write, and share paragraphs about the rBook React
question on page 68.

@ Read: Underline the topic sentence and check two supporting details.

It was a bad idea for Louisa to go home because her family did not
recognize her. First, Louisa’s parents did not believe that she was their
daughter. Then, Louisa’s sister thought that she was another imposter.

@ Practice: Work with your teacher to write a paragraph.

[t was a (good/bad) idea for Louisa to go home because

First, her parents felt (adjective) because

In addition, going home made Louisa realize
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@ Write: Choose a reason from your Brainstorm list and write a paragraph.

It was a (good/bad) idea for Louisa to go home because
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